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QUESTION 1

Consider the following SQL statement and the Orders relation shown in the exhibit: 

What is the output of this SQL statement? 

A. B. C. D. 

Correct Answer: C 

 

QUESTION 2

Consider the following SQL statement and the Orders relation shown in the exhibit: 
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How many records should be returned? 

A. Two records 

B. Three records 

C. Four records 

D. Five records 

Correct Answer: C 

 

QUESTION 3

What is a data dictionary? 

A. A system catalog containing user data 

B. An area of the database that is directly accessible by the user 

C. Data that is stored in tables and is only accessible by the DBMS 

D. Metadata that is stored in tables and is only accessible by the DBMS 

Correct Answer: D 

 

QUESTION 4

What is the highest normal form of the relation(s) shown in the exhibit? 
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A. Second normal form 

B. First normal form 

C. Boyce-Codd normal form 

D. Third normal form 

Correct Answer: A 

 

QUESTION 5

Which type of relational integrity is violated if a primary key in a database has a null value? 

A. Entity integrity 

B. Domain integrity 

C. Domain constraints 

D. Referential integrity 

Correct Answer: A 
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